
       Parts List for 
 Master set # 5-18111

All sleeves and 
instructions for each set 
must be packaged together 
in individual bags.

Fold the Master parts list 
so the 
       "OPEN FIRST!!
          Parts list for
Master set # #-######"

is clearly visable when 
packaged on skin packing. 

Packaging Instructions

11-20-02
17355.cdr

2000-UP’ NEON17355 Parts List

Rear sway bar bushing set: 5.5150
2  5535 14mm rear sway bar bushings

Rear endlink set: 9.8124
8  4806 Bushings
8  15.03.01.39 Washers (1.250x.385x.110)
2  15.05.05.39 Bolts (3/8-16x7.5”)
2  15.07.01.39 Nuts (3/8-16 Nylon Lock Nut)
2  15.10.75.39 Sleeves (.562x.375x3.562)

Misc:
5  9.11101
1  17145 Installation instructions

Parts list:

Energy Suspension recommends that you 
read over all the installation instructions 
and parts list before you start.

Front control arm bushing set: 5.3123
4  2406 Lower CAB horizontal bushings
2  15.10.409.39 Sleeves (.812x.562x2.272)
2  3370 Lower CAB “top” bushings
2  3369 Lower CAB “middle” bushings
2  3368 Lower CAB “lower” bushings
1  17311 Installation instructions

Front sway bar bushing set: 5.5149
2  5536 20mm front sway bar bushings
 
Front endlink set: 5.8105
8  8072 Bushings
2 15.10.92.39 Sleeves (.563x.375x.800)
8 15.03.03.39 Washers (1.100x.400x.050)
2 15.05.28.39 Bolts (3/8-16x3-3/4”)
2 15.07.01.39 Nuts (3/8-16 Nylon Lock Nut)

Rear strut trailing arm bushing set: 5.7112
2  2400 Trailing arm bushings front
4  7094 Trailing arm bushings rear

   OPEN FIRST!!        
1131 VIA CALLEJON,   SAN CLEMENTE, CA 92673

R

Updated 13/DEC/01   BRH

2002 Energy Suspension. All rights reserved.2002 Energy Suspension. All rights reserved.CC
May not be reproduced, in any form, or by any means,
without the written consent of Energy Suspension.
May not be reproduced, in any form, or by any means,
without the written consent of Energy Suspension.


	Page 1

